Topic 7 — Similarity: Unit Exam REVIEW Name CHRIS

Show all work. Attach any additional sheets of paper as 11eeded

Grand Lake

1. Maya needed to determine the longest distance across Grand Lake. She

the diagram.
a. Provide an argument (a proof) to justify that ANPM ~ ARPS.
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2. The CHS STEM Club decided to take a field trip to test what they
were learning in math class. They decided to find the width of the
Colorado River at a particular point A as shown in the image. Pacing
from point A, they located points D, E, and C as shown in the diagram.

Determine the width of the river. . -
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3. Bella needs to know how tall the tree is. Bella places a mitror
on the ground to use similar triangles. Use the image at the

right to determine the height of the tree. P
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For problems 1-5 determine if the given information is enough to conclude that the two triangles are similar. If
so, complete the similarity statement and state which similarity condition (AA, SAS, SSS) you used, if not, state

“not similar”. Be sure to show your work to justify your reasoning.

For the following problems, the triangles are similar.

Solve for x. Show your work
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Directions: Solve for x, be sure to show your proportion. CHRIS D. ADKISON
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In the diagram, a large flagpole stands outside of an (o =X

office building. Marquis realizes that when he looks =3
up from the ground, 60 m away from the flagpole, =S ks
that the top of the flagpole and the top of the SENESE %‘j\;
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building line up. If the flagpole is 35m tall, and h 5=y : %
Marquis is 170m from the building, how tall is the 2 3 %
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1. A tower casts a shadow of 54 feet. A 5-foot tall pole near the tower casts a shadow 7 feet long. How tall is
the tower? Y 5 2o /D
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Solve for x: CHRIS D, ADKISON
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1. A quadrilateral has vertices A(-9,-6) B(-9,-9) C(6,-6) D(6,-9).
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b. How does the image perimeter relate to the original perimeter and & ? oI
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c. How does the image area relate to the original area and k ?
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